
 ELEVATION
 A

B

A1662802

P41050903-210000-02

H1  APS MBES 1-ID-C
MONOCHROMATIC BEAM

EXPERIMENTAL STATION ASSY.
   (REAR DOOR)

E

.03 [.762]

.01 [0.25]

.005 [0.127]

.25

125

       AS NOTED

10/25/93

T.SANCHEZ/CORCUERA11/19/93

E 1/8=1 1

DATE

DATE

corcuera
DATE

DATE

DATE

DATE

78.74 [2000.00] 78.74 [2000.00]

3.78 [95.97]

35.59 [904.02] 35.59 [904.02]35.59 [904.02] 35.59 [904.02]

3.78 [95.97]

98.00 [2489.20]

.09 [2.38]

96.00 [2438.40]

(CLEAR OPNG.)

C

D D

F

 H 6X

4X

41.92 [1064.65] 41.02 [1041.91]

41.92 [1064.65]

41.02 [1041.91]

( 41.02 [1041.91] )

 SECTIONB
SCALE:1/2=1" SCALE:1/2=1"

 SECTIONC

1.35 [34.29]

3.17 [80.52]

D  SECTION
SCALE:1/2=1"

3.94 [100.00]

1.97 [50.00]

1.18 [30.00]

.59 [15.00]

1.97 [50.00]

3.94 [100.00]

1.18 [30.00]

.59 [15.00]

1.97 [50.00]

.98 [25.00]

2.25 [57.15]

.50 [12.70]

6.00 [152.40]

3.00 [76.20]

6.00 [152.40]

3.00 [76.20]

4.72 [119.81]

2.36 [59.91]

4X M10x0.75 THRU

WELDED ALL AROUND

H  DETAIL
SCALE:1/4=1"

ONE PIECE CONTR. IS ACCEPTABLE

  6 REQ’D.

.25 [6.35] 34

34

33

SCALE:1/4=1"

4 REQ’D.F  DETAIL

5.43 [138.00]
15.75 [400.05]

6.00 [152.40]

31

33
HO  HUTCH DOOR 3/8"  L.H.

36 M16 - ECCENTRIC BOLTS x 100MM LG. SS 8

37 NUTS FOR M16 SS 8

38 WASHERS FOR M16 SS 8

HD2-E BRG. ECCENTRIC, HEPCO-BISHOP

HDS-DOUBLE SLIDE HD500 SLIDE, 2

31

1

P41050903-870301-01

P41050903-870303-01

HEPCO: EMCO, POBox 23413, MILWAUKEE, WI. 53223 C/O ELDEN E. MOLTER

(2X)

LOG No.

A16646

A16645

2.00 [50.80]

4.00 [101.60]

1

HO  HUTCH DOOR 3/8"  R.H.

S1

A16640 S1 P41050903-820309-01 HO  TRIM & MISC (SKIRT) 1

FLOOR

MAX GAP

)(

.38 [9.52]

4X F

(8X)

(8X)

(8X)

38

37

36

.38 [9.52]

.25 [6.35]

.25 [6.35]

.25 [6.35]

.38 [9.52]

(CLEAR OPENING)

AT CLOSE POSITION

77.34 [1964.44]

A

2X M16 THRU

102.20 [2595.79]

98.00 [2489.20]

.09 [2.38]

.09 [2.38]

UPDATED SECTION1

1

UPDATED PARTS LIST1

1

1/8=1

8 10

2 TITLE REVISED RACS 7/27/95

MAIN

ON

OFF

EMERGENCY
MANUAL DOOR
OPERATION

TURN

HANDLE

POWER

ON

OFF

LIGHT FAN

AIRWATER
IN OUT

ON

OFF

ON

OFF

ON

OFF

OFF

ON

OFF

ON

OFF

ON

OUTIN
WATER AIR

EMERGENCY

EMERGENCY

EXIT
IN CASE THE DOOR

IS JAMMED LOCKED

PULL THE LATCH

AND PUSH HERE

LATCH

PULL

AND PUSH HERE

PULL THE LATCH

IS JAMMED LOCKED

IN CASE THE DOOR

EXIT

EMERGENCY

PULL

LATCH
EMERGENCY

EMERGENCY

EXIT
IN CASE THE DOOR

PULL THE LATCH

IS JAMMED LOCKED

AND PUSH HERE

EMERGENCY

LATCH

PULL

BEAM

A1662802

P41050903-210000-02

H1   APS MBES 1-ID-C
MONOCHROMATOR BEAM

EXPERIMENTAL STATION ASSY.
(UTILITIES)

E

.03 [.762]

.01 [0.25]

.005 [0.127]

.25

125
10/26/93

T.SANCHEZ/CORCUERA11/15/93

E 1/16=1 1

DATE

DATE

corcuera
DATE

DATE

DATE

DATE

SECTION A-A SECTION B-B SECTION C-C

SECTION D-D

B

C

C

D

A

A

D

B

UPDATED1
1/16=1

9 10

2 TITLE REVISED RACS 7/27/95
2

 A

 SAFETY OVERLOAD DEVICE OR EQUIV.

-‘‘GORBEL’’ CEILING SUPPORTED WORK STATION CRANE OR EQUIV.
 12 FT. SPAN  x 23 FT. RUNWAY WITH CAPACITY 1000 LBS.

-‘‘BUDGIT USA’’ MANUAL CHAIN HOIST WITH CAPACITY 1000 LBS. WITH

 SECTION
 B

NOTES:

96.50 [24501.10]

MAX. HEIGHT

121.00 [3073.40]

55.12 [1400.05]

BEAM

 A

A1662802

P41050903-210000-02

H1   APS MBES 1-ID-C
MONOCHROMATIC BEAM

EXPERIMENTAL STATION ASSY.
(CRANE)

E

.1   [2.540]

.03  [0.760]

.005 [0.127]

.25

125

       AS NOTED

11/12/93

T.SANCHEZ/CORCUERA11/19/93
DATE

DATE

DATE

DATE

corcuera
DATE DATE

 SECTION C

(121.00 [3073.40])

 TOP VIEW

(275.59 [6999.99])

 (MINUS TOP PANEL FRAME)

(157.48 [4000.09])

 B

BEAM

C

E 1/16=1 1/16

BEAM CLIP

UPDATED1
1/16=1

10 10

2 TITLE REVISED RACS 7/27/95 2


